LABJNDu4-Normhelligkeit I*
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LABJINDu4
Normfarbwertdifferenz
Yoc=Yw - nc=100,
I* LABINDUA=IN(A 17+ A2RY)/(A2nAon)  (Yd/100<Y<=Y,c)
I* LABINDUA=IN(A 17+ A2)/(AouPon) - (X=YTYy)
dY=Agn(A1r+AzY)=Aon(A1+AgX). Siehe CIE 230:2019
dYoq=0.15, Ay=0,6666, £,=0,0438, ¢=0,42
dY;g=0,03, A\;=0,007, A4,=0,0024
dY3,6=0,01 Y, =18, dY=0,03
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. Normfarbwertemfindlichkeit
SHEYY Yoc=Yw - nc=100,
I* LABINDU4=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,c)
I* LABINDUA=IN(A 17+ A2X)/(A2uAon) - (X=YTYy)
AY/Y=Agn(A1r+AgnY)Y=Aon(Arr+AgX)Y
(dY/Y}5=0,0016, £,=0,6666, /4,=0,0438, ¢=0,42
(dY/\§=0,0018, A=0,007, A,=0,0024
(dY/Y},;=0,0029 Y,=18, dY=0,03
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Normfarbwertkontrast
Yoc=Yw nc=100,
I* L ABINDUA=IN(A 17+ A2RY)/(A2nAon)  (Yd/100<Y<=Y,c)
I* L ABINDUA=IN(A 10+ A2)/(A2uAon) - (X=YTYy)
YIAY=Y/[A (A 1ntA2n V)X Y/ [Aon(A1n+AuX)]
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LABJNDu4 relative Normhelligkeit I*/1*
o Yoc=Yw - nc=100,
u

1* L ABINDU4 =IN(A 17 +A2nY)/(AnAon)  (Ynd/100<Y<=Y,o)
1%L ABINDU4 =IN(A 10+ A2 (Ao Aon)  (X=YTYY)
I y(3,6)=783* ,(18)=1780/* (90)=2771

I# ogfl* =1,55, Ay,=0,6666, 4,=0,0438, ¢=0,42

I¢ g/l =1,00, A p=0.007, A,=0,0024

I* 3 I*,=0,43,1*=1779,78 Y =18

log[i* /I* ]=0, m,=0,33
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LABJNDuA4 relative
Normfarbwertdifferenz
Yne=Yw nc=100,
1* L ABINDU4 =IN(A 17 +ARY)/(AnAon)  (Ynd/100<Y<=Yo)
I* L ABINDU4 =IN(A 10+ A2 (A2 Pon) - (X=YTYY)
dY/dY =(A1tAX)/(A1+AY)
dYoy/dY,=4,43, Ay=0,6666, ,=0,0438, ¢=0,42
dY;g/dY,=1,00, A=0,007, A,=0,0024 5
dYs ¢dY,=0,31, Y,=18, dY;=0,03 #
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log [(AY/Y) I (AYIY)] LABJINDu4 relative
Normfarbwertempfindlichkeit
S/Su=OYMIAYY), yomy TS
1* L ABINDU4 =IN(A 10 +A2RY)/(AnAon)  (Ynd/100<Y<=Yoo)
I* L ABINDU4=IN(A 10+ A2 (A2 Pon)  (X=YTYY)
(@Y/YY(AYIV)=Z[(A 1+ A X)X (A 17 +A)
(dY/Y)o/(dY1 N=0,88, Ay=0,6666, 4,=0,0438, ¢=0,42
(dY/Y)g/(dY/Y)1.00, Ay1=0,007, Ar=0,0024
(AY/Y} d(dY/YV)=1, 3 Y =18, dY=0,03

log[(dY/YY(dY/Y),]=0, m=-0,13 1
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log [(Y/AY) I (YIAY),] LABJINDu4 relativer
Normfarbwertkontrast
CelCru=(YIAI(YIAV)u ¥, =Yy - =100,

I* L ABINDU4 =IN(A 10 +ARY)/(AonAon)  (Ynd/100<Y<=Yo)
I* L ABINDU4 =IN(A 10t A2X)/(A2uPon) - (X=YTYY)
(YAYY(Y/IAY)=[XI(A A )(A 10+ A L)
(YIdY)hg/(Y/dY)=1,12, A)=0,6666, A,=0,0438, ¢=0,42
(Y/dY)g/(Y/dY)=1,00, A,,=0,007, £=0,0024
(Y/dYY g(Y/dY)=0,64 Y, =18, dY=0,03

log[(Y/dY)(Y/dY),]=0, m=0,13
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